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Relacao do aco

P1 5xP2 P4
P5 P6 P7
2xP8 P11 P13
P14 P15 P16
P18 P19 P20
P21 V1 V2
V3 V4 V5
V6 V7 V8
V9
ACO N DIAM | QUANT | C.UNIT | C.TOTAL
(mm) (cm) (cm)
CA60 1 5.0 120 82 9840
2 5.0 48 57 2736
3 5.0 91 25 2275
4 5.0 99 25 2475
5 5.0 9 106 954
6 5.0 4 71 284
7 5.0 11 27 297
8 5.0 11 92 1012
9 5.0 4 62 248
10 5.0 20 102 2040
11 5.0 8 67 536
12 5.0 11 86 946
13 5.0 4 61 244
14 5.0 29 122 3538
15 5.0 12 77 924
16 5.0 7 68 476
17 5.0 4 54 216
18 5.0 2 288 576
19 5.0 275 62 17050
20 5.0 2 198 396
21 5.0 2 135 270
22 5.0 2 110 220
CA50 23 6.3 2 178 356
24 6.3 2 517 1034
25 6.3 2 151 302
26 6.3 2 188 376
27 6.3 2 142 284
28 6.3 2 117 234
29 8.0 1 135 135
30 8.0 2 986 1972
31 8.0 1 131 131
32 8.0 1 71 71
33 8.0 1 481 481
34 8.0 2 556 1112
35 8.0 2 86 172
36 8.0 2 92 184
37 8.0 2 686 1372
38 8.0 2 687 1374
39 8.0 4 866 3464
40 8.0 2 879 1758
41 8.0 2 66 132
42 8.0 2 85 170
43 8.0 1 218 218
44 8.0 1 106 106
45 8.0 1 84 84
46 8.0 1 465 465
47 8.0 2 860 1720
48 10.0 2 142 284
49 10.0 60 183 10980
50 12,5 54 192 10368
51 125 6 142 852
52 16.0 12 205 2460
Resumo do aco
ACO DIAM | C.TOTAL | QUANT+10% | PESO +10 %
(mm) (m) (Barras) (kg)
CA50 6.3 25.9 3 7
8.0 151.3 14 65.6
10.0 112.7 11 76.4
12.5 112.2 11 118.9
16.0 24.6 3 427
CA60 5.0 475.6 - 80.6
PESO TOTAL
(kg)
CA50 310.6
CA60 80.6
Volume de concreto (C-25) = 2.88 m?
Area de forma = 53.83 m?
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